No. Ft.

H.P. Forest Department,

From: -

Divisional Forest Officer Theog Forest Division, Theog

To:

Sr. Executive Engineer, HPSEBL, Division Totu Shimla, H.P.

Subject: -

Diversion of 3.613 ha of forest land in favour of Himachal Pradesh State Electricity Board Ltd. 66KV D/C Transmission line from Pragati Nagar to 66/22KV Sub-Station Hulli (Kotkhai) Shimla within the jurisdiction of Theog Forest Division, District Shimla.

Sir,

"In Principal Approval" in the aforementioned proposal has been accorded & conveyed by the Gol, on dated 01.10.2024. It is therefore requested to please deposit the following amount within shortest possible period in order to comply with the stipulations of Gol enabling to get the proposal finally approved well in time:-

Sr.	Component.	Amount.	Remarks.
No.			
1.	NPV	38,63,995/-	To be deposited in CAMPA
2.	CA	22,01,589/-	head through parivesh
3.	Contingency Charges	1,10,079/-	portal
4.	Soil & moisture conservation works	1,79,500/-	
	Total	63,55,163/-	
8.	Departmental Charges w.r.t. CA	4,04,542/-	To be deposited in the shape
9.	Cost of trees	1,58,459/-	of Demand draft in favour of
			DFO Theog
	Total	5,63,001/-	
	G. Total:-	69,18,164/-	

You are requested to kindly deposit the amount of NPV, CA Scheme, Contingency charges amount to Rs. 63,55,163/-only through online forest clearance portal of http://forestclearance.nic.in through e-challan mode. The copy of UTR slip duly attested is submitted to this office after depositing the said amount. And amount on account of departmental Charges amounting to Rs. 5,63,001/- only be sent in the shape of Demand Draft or cheque in favour of Divisional Forest Officer, Theog drainable in SBI Branch Theog.

In addition to above, you are requested to furnish

undertakings as mentioned in In-Principal Approval.

It may please also be ensured that no work be executed at the proposed site until the final approval of the competent authority is obtained and conveyed to

you.

Divisional Forest Officer Theog Forest Division, Theog.

Title of the Project: - C/o 66 kV D/C Transmission Line from Pragati Nagar to 66 22 kV Sub Station Halli

(Kotkhai) Shimla. (HP)

File. No.:-

FP/HP/TRANS/148907/2021

Date of Proposal:-

06.01.2022

NPV BILL

ECO Class	Class and NPV in Rs.					
	Class	Rate per hec.	Forest area to be diverted	Amount		
	VI	1069470	03-61-30	38,63,995		

Date:

Place: Theog

Divisional Forest Officer

Theograph Forest

rea proposed for compensator	1 00					DISTT. SHI		2.		
		on in hac.	7.226							
lants to be planted per hectare			1100		-					
Total number of plants to be pla			7949		<u> </u>	7	8	9	10	11
1	2	3	. 4	5	6	Total cost (i.e.		Cost Unit cost		Total amount
articulars of works	Unit cost at wage structure per ha.	No. of Plants	Plants @ 31/- Rs	Total amount of plants	Area In ha.	Col.2x6+5)	execution of work	escalation	after applying cost escalation (Col.7x9)	(Col.7+10)
nitial cost for raising CA over					7.026	997200.4	2025-26	10%	99720.04	1096920
in area of CA	103900	7949		4	7.226	161369.6	2026-27	20%	32274	193643.6
st Year Maintenance	12100	2385		73935	7.226	108543.2	2027-28	30%	32563	141106.2
2 nd Year Maintenance	8200	1590		49290	7.226	54994.2	2028-29	40%	21998	76992.2
3 rd Year Maintenance	4200			24645	7.226	54994.2	2029-30	50%	27497	82491.2
4 th Year Maintenance	4200	795		24645	7.226	54994.2	2029-30	60%	32997	87991.2
5 th Year Maintenance	4200	795	31	24645 24645	7.226 7.226	54994.2	2030-31	70%	38496	93490.2
6 th Year Maintenance	4200	795	31	24645	7.226	54994.2	2032-33	80%	43995	98989.2
7 th Year Maintenance	4200	795	31	24645	7.226	54994.2	2032-33	90%	49495	104489.2
8 th Year Maintenance	4200	795	31	24645	7.226	54994.2	2033-34	100%	54994	109988.2
9 th Year Maintenance	4200	795	31	24645	7.226	54994.2		tone	60494	115488.2
10 th Year Maintenance	4200	795	. 31	24045	1.220	34774.2	2035-36	110%	00171	2201589.4

Dr. Manish Pampal Divisional Forest Ameer Theog Forest Action, Theog Title of the Project: - C/o 66 kV D/C Transmission Line from Pragati Nagar to 66/22 kV Sub Station Hulli (Kotkhai) Shimla. (HP)

File No. FP/HP/TRANS/148907/2021

Date of Proposal: - 06.01.2022

BILL FOR SOIL AND MOISTURE CONSERVATION

Sr. No.	Area proposed for soil and moisture	UPF-490 Chanodhar & U-491 Bhareli Himri Beat, Gohach Block, Kotkhai Range, Theog Forest Division
1	Proposed year for soil and moisture conservation works	2023-24
2	Estimated Project Cost in lac	359
3	0.5 % of Total Project Cost	1.795
4	Amount for Soil and moisture conservation Plan (as per Guideline issued by the Ministry vide letter dated 07.06.2022)	

Divisional Preses Officer
Divisional Preses Officer
Theog. Equese Division Theog